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| Answer ALL question’s. -

PART A — (10 x 2 = 20 marks) -

1. _. What are the universal gates? Justify. - . o ('

. 2. . State Dé-MOrgan’s Theorem.‘

3. . Write the characteristic equation of 4 x'1"Multiplexer.

4. Stat_e thé &ifferenc’es b’etweén cbmbinational and sequehtiallcii‘cuits. '.
5. Draw the ex01tat10n table for D Flip Flop

6. - Draw the state d1ag1 am. of 3 blt up counte1

7. Compaire PAL, PLA and PROM. | =

8. D.efihersetup_ time with timing diagram.
9. . Mentjori the types of sequential éir'cuitsxahd give the differe_‘ncé between them.

©10.  Define ‘Mealy machine {yitll a state diagram.
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PARTB— (5 x 13 = 65 marks) '

Simplify f{W, X, Y, Z2) = Xm (2,' 6, 8,9, 10, 11, 14, 15) using Quine —

Me Cluskey method of minimization.

! OL

Draw and Ekplain NAND, NOT and NOR gate CMOS representéition.

Draw 4.x 1 mult1plexe1 and 1 % 4 Demultlplexel usmg gates and explam ,
" its opelamon

Or
Design a 2 bit magnitude comparator and draw:its 1ogic cireuit.
Explaln the Ioglc cu‘cmt chal acteustm and excitation table of J K, SR and
D ﬂlp ﬂop '
_ Or
Design a 3 bit syn¢hronous binary up-down binary using T flip flop. *
Design and implement a BCD to gray code converter using PAL.

. ’ Ol‘. | . i
Write short notes on Static, Bipolar and MOSFET RAM cell,

"Elucidate the design procedure of synchronous sequential circuits. ‘

'of ,
De51gn a sequentlal cncmt whose state Lables are: spec1ﬁed in the Table
below usmg D flip- ﬂops '

Present State | Next State | -Output

Qo Qu ,Qxéo_ x=1|x=0|x=1
00 foo|o1 ;0- 0
o1 - | oo | 10| o o
10 1110 0 Q‘
11 ,' 00_'_0.1 o |1
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16. | (a) | 1) Demgn a-cireuit that has a 3:bit binary mput and a single output (Z) :
: specfﬂed as follows :. ‘ . {8)
7 =0, when the mpgt is less than 510 ' '
L Z=1, otherw1se '

' (ii) Simplify the gwen logm circuit using Boolean Slmphﬁcatlon D .

- Or
(b) Desxgn a Synchlonous sequentlal cncult whose state dlaglam is shown
' below S R B s o © (1b)
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